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What do you not:ce? What are some questuons you have?
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How would you describe where each digger would be :
.. | at the end of each day?
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DEFINITION: SLOPE: a ratio of vertical change to horizontal change of a line. "s
Ao D QRuts

daanqu rié bihotin L points
T l’ o =—FU’C‘——) vertcal c.uﬁo:otn./i from

L5 r’ pft to riqut
|\ o rigue Inange ]

desceipes Gy | -
Rat f.QﬂQnQQ_
ﬁ\QQ()MS") of \/ - =
o linde !
4 _
q© - - ‘
POEE P S L | i
NS <% : it : P
: - -usi)‘m Cuncton A st R
e I aSInas SEasamEEa
> : S Enas lunasbuanw
- 5
(oo S\ope” entetept Lok, e Foan L=k, Lalls
Hew) : SEEE £ aaiE,
5 i
= ! it J
No \Pertal [down 5

" ‘ -
In the ditch digger example, use the slope formula to find ’ﬂie ra'Te'Zf change/slope of each ditch digger?

.

e Ditch Digg_er 1:
|+ DitchDigger:

Werethe signs of the slopes the same or different? From the graph, how is this seen?
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How to find the slope. between two points.

™

Two points: (-3, 37

e )

1_. Plot the two points.
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2. Find the vertical change. W 6
endpoint on the right.

Count vert:cal units:
o If you moved up, it’s a positive change

mave to the nght?

e Start at point on the Ba ol to get to the

o If you moved dawn :t’sanegat:ve o

:3 Count honzontal Umts. how many umts do you oy

1. % que.’ each par’r of points

: ( x[_)\j\ ) and (X1.J37J f by

2. Use the slope formula

m=Ye"h -
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3. Simp!.ify if possible
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* Rolla pair of dice. The die on tl';ereft will be your x-
‘be your y-coordinate. Write this coordinate here: (

Repeat this, except make each coordinate négative.
Write this coordinate here: (- . )

’

| Fi'hd'the slope between these points.

Y

coord

L S

inate, and the die on the rightkrvx;iwlr

)

{

Plot these points to confirm the slope
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